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East Los Angeles College

Department of Mathematics

Math 125
Test 4

Given the following quadratic equation, determine the following.
y=-2(x—-3)*>+4

1. Vertex 2. Axis of Symmetry
3. Opens up or down 4. y-intercept(s)

5. x-intercept

6. Graph the parabola

Given the following quadratic equation, determine the following.
y=x2-8x+2

7. Vertex 8. Axis of Symmetry
9. Opens up or down 10. y-intercept(s)
11. x-intercept
12. Graph the parabola

Graph the following solutions set using sign analysis.

13. x2 —4x > -3
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Graph the following Conic Sections.

16. x2 + y2 = 25

17. 4(x — 3)2 + 25(y + 2)2 = 100
18. (x+1)2—4(y—-1)%2=16
19.x24+y2 -8y +15=0

20. x2+y2+6x+4y=12=0
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